CGLE- Combined Graduate Level Tier-l, 2018 Examination

[Roll No.

IRegistration No.

Name

Test Venue i-Tech Zone

Test Time 1:00 PM - 2:00 PM
Test Date 06/06/2019

Section : General Intelligence and Reasoning

Q1 33 fawew & e HfFT F SOY HeT-EEg ¥ W TR FET § W v g@u HeR-AAg TEe
He HAE W Wi §

JKLM : HLKO :: PQRS : ?

Ans X 1. ORQT
# 2 NQRU
v 2 NRQU
~< 4 MRQV

Question ID : 98958013649
Status : Answered
Chosen Option : 2

Q2 Gl ax = # ¥ 3 u B 9K ¥ vF oA § T Ue s smee ¥ e o @
T RIS

Ans o 1 @R
K 2. HAES
< 3. gqdrar
X 4 AT

Question ID : 98958013652
Status : Answered
Chosen Option : 1

¥ 3g fadew 1 aua X forwd & 7 gy AT ¥

Ans

1/29



6/26/2019

¥ &)

Question ID : 98958013670
Status : Answered
Chosen Option : 3

A & S Ry F Reae R B2

Ans X112

<213

X3 11

v 415

Question ID : 98958013668
Status : Answered
Chosen Option : 3

Q.5
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6/26/2019

IR A & ¢ IS F A IR 9T W AT @ g ST TE 90T ST & 9aa S

Ans - v 7

Y &3 M

< 3 H O

&4 ) :

Question ID : 98958013671
Status : Answered
Chosen Option : 2

Q.6
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o el & v aifes 9 30T 7 F aateug S

1. 3@
2. f&azor
Ans X332, 4,3, 1,5
X2, 3, 4, 5, 1
X331, 2,3, 4,5
v:1,5 4,3 2

Question ID : 98958013650
Status : Answered
Chosen Option : 4

Q7 =@ R @O F T AT R A & v R gmer F e T WO EAER e § &
E el uli

dc_abc_cb_bed ba ¢

Ans o 1. bdach
< 2. cbadb
< 3. bdcab
« 4. dbacb

Question ID : 98958013657
Status : Answered
Chosen Option : 3

8 Ay & g s@en # weA feE (?) & TUE W FHE-dr wEar e

2. 3L 6 0 35 28,7
Ans X1 43

X 2 45

v 46

X 4 39

Question ID : 98958013660
Status : Answered
Chosen Option : 3

QY ymaRFmi SR s, AR oo E T s = ik D Y e 1 E F R
HﬁaﬁG@'?ﬁ%’,G, Fﬁ'aﬁﬁ%lFiﬁrﬁHﬂmBﬁgmﬁ,B,Awﬂé%\ C, H=
T=(nephew) 1 A T D & T Ha 27

Ans xm fE'L_'lT
X 2 srfrem/sTeT
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Vo 3eRer

X4 oS

Question ID : 98958013658
Status : Not Answered
Chosen Option : --

THeT : ST 1 3&H : ?

Ans ?‘ﬁ- m

X 2. T

LY

v 3 Rere-Teg
X 4. EeEEgoT

LY

Q10 37 ferew & w9= F S T 97 T 3W THER TS § S g 9g Ted U¢ § FEOT 2

Question ID : 98958013654
Status : Answered
Chosen Option : 3

e w7 & %eag G e
Ans  of 1. 234971

X 2. 234917

X 3. 493287

< 4. 329417

Q.11 afy POSTER # 592314 % 77 & 3T DARK ' 8647 ¥ ¥ & Feag 5w =1ar § ar STROKE #r

Question ID : 98958013656
Status : Answered
Chosen Option : 1

Q12 37 g 37w & w9 Hifow TES e T amw 360 SR gEn § 5w R S e e
T giw  $ gt FEe s & et )

Ans

28263

Ans X'1.36 : 78
<212 :28
<3 48 : 98
v 16 : 36

Question ID : 98958013661

Status : Not Answered

Chosen Option : --
A3 g TR TETOE S § @EioT § 5 TR =y & F=fa g

5/29



6/26/2019

v . wfae

X2 g

K4 HT

Question ID : 98958013653
Status : Answered
Chosen Option : 1

Q14 TR 9r w-aag & & S wmR-aag B TR & oF ane § 3N T A ¥ S
FE-TAE F T T

Ans X 1. BIRD
v 2. ZOOM
X 3 PAST
X 4 DECK

Question ID : 98958013651
Status : Answered
Chosen Option : 1

Q15 Frr Ro a1 e = T e ¥ BT B 2 Regt @ aew & sger S aRe?

12-6 +12xXx6+6 =9

A _ 3T+
K2+ 3y =
K3 ox 3+
X4-+3-ﬂtx

Question ID : 98958013665
Status : Answered
Chosen Option : 1

Q16 3@ wEeew @ WO Hifv Swd gEa s W AW F welt § S e see Jw R e
Tgeew & o & FEfe #)

(12, 16, 28)

Ans 51 (38, 48, 77)
X 2 (20, 25, 35)
X3 (9, 15, 21)
v« (18, 24, 42)

Question ID : 98958013664
Status : Answered
Chosen Option : 4

Q17
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3 FE=ET 1 9EE R SEH T 36 oiE HE A FEihe § S 9 e de R e
T & s F matia #)
Ans 34 (11, 18, 29)
X 2. (23, 30, 40)
X3 (5, 11, 20)
v (7, 14, 23)
Question ID : 98958013663
Status : Answered
Chosen Option : 4
Q18 2 o5 APt & o g9 TeY F g T 3 NG #T I4T HIieT
Ans
x 2. @
‘f | @
x 4. @)
Question ID : 98958013673
Status : Answered
Chosen Option : 3
Q.19
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TF & O 1 3 e TRufaat = gt mam # afy T 1 e vee W E O IO Gl 9T FiE-

o gea R e
Ans @_ 5
X2 2
X35
V4

Question ID : 98958013669
Status : Answered
Chosen Option : 4

Q20 v R FE F AT T AT AT AT AT SFER FT T F| SR e W AF HAr B me

- \ § (-]
2 TR L

hY — 4
Ans
d o
O
F o o
o]
o <

] o]
o]
X 3.
00 D
<] o
o ©O
v 2 o

Question ID : 98958013672
Status : Not Answered
Chosen Option : --

Q.21 6 wwi, 8 Afgensi 3y 12 asH F @ 820 T W THER ¥ Rewfad v ww § B 9w Afgen &
tF 99 AR v ok W e o g o & suet o= e § el 9 e o & o e
mm:ﬁﬂ%gﬂmuﬂﬁm%wnﬁmﬁ#gﬁrﬁmmmmgm

Ans
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« 1. 2300
T —

X 5 3240
v 4 3400

Question ID : 98958013666
Status : Not Answered
Chosen Option : --

Q.22 Fe=fafeg ox deanet & T 99 geuw e o veaee # 3t o dew 3aee & 3T s
HEAT # =T47 HT

Ans X 1. 341
v'2 166
#3209
<4132

Question ID : 98958013662
Status : Not Answered
Chosen Option : --

Q.23 fpgr = s #, TEACHING 1 SDBDGHOH feram smar #1 33 = smar & BOOKWORM =t
forar S

Ans o 1. ANPLVNSN
< 2. ANPLXPSL
# 3. CPNJXPSL
< 4 ANPLXNNS

Question ID : 98958013655
Status : Answered
Chosen Option : 1

Q.24 1 3 Fuw R v § 3R 30F 9¢ s o, ||3ﬂ?|||%q?w§|ma$rmmﬂ?r§mm?ag
AT AT 9T § e 99 29 @, 39 I8 WU e 5 G 9T e § Fie-a ey
THETT w9 T fEwear ¥

o Tt e #)
7o R wufie )

forsy

. Fo Pt vafae &

Il o emdr feamt 2

Il o it Fagarslt vufere =@t &1

Ans X1 Faer TrsEY | e T
X2 97 ¥ F5 Ty 7T Fererar 2
V'3 Faer Ty Il R ar ar | T | T Seear g
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X 4 Faer sy 1| 3T 1l Feerar B

Ans

” K
O
v
X -
K M
_ 0
5 3.
*
X s
&4

Q1 selr W 1 Fla-A1 ITede w AR & fore T = 3 AET F FEreT S
e FATR?
Ans " 1327

75 2.48A

Question ID : 98958013659
Status : Answered

Chosen Option : 3

2 RrrafafEd sefa A@er & e S T WP H T ST

Question ID : 98958013667
Status : Answered

Chosen Option : 2
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o 3.39A
75 4.43A

Question ID : 98958014192
Status : Not Answered
Chosen Option : --

Ans

Q2 G FRvdTossR TRIFTIENE |

x 1. YOI, §TS3ISe 2T ATS ISt
/X 2. 3lg, ASEIST T 3T
75 3. T8, g siterdiorT
o 4. i, siferdior ar smgar

Question ID : 98958014178
Status : Answered
Chosen Option : 4

Ans

Q3 AT, 2019 &, yAlE Wra R HRET T & ATAHN a7

< 1.
7% 2. affemrg
o 3.

< 4. FERTE

Question ID : 98958014193
Status : Answered
Chosen Option : 3

Ans

Q4 e Fae ¥ Rgid W Far gl

o 1 T A

7 2. s awi
75 3. SR e
7< 4. Jceraifae aar

Question ID : 98958014179
Status : Answered
Chosen Option : 1

Ans

Q5 frelt srefcaaren & T Hed TR A R Y #Y F41 FgT e &

75 1. REhfy
Jz.ﬁa@ﬁﬁf
75 3. FErERifas e 7Y
75 4. 3Ehfy

Question ID : 98958014177
Status : Answered
Chosen Option : 2
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Q6 77, 2019 &, RA THER A____ #R & TAT HHAWIR & AgIforaers & w7 & forgera
i
Ans  off 1 dr &1 e

X 2. @ Fofe
75 3. R
7 4. FEery oI

Question ID : 98958014198
Status : Not Answered
Chosen Option : --

Q7 o Rrersh & arAeTHIer # fFafafad # & i T a2
Ans X" 1. STerTer-3e-et-fEers

X 2. 8358 seqfenar

X 3. T AeE

4. SR e

Question ID : 98958014187
Status : Not Answered
Chosen Option : --

Q8 dqzearT___ ¥ 3 faeel W RRT 10 ATHAT Y oo ATHTSY & 3 & T H @ISR
Ans X" 11215

75 2.1452
/X 3.1645
o 4.1398

Question ID : 98958014189
Status : Answered
Chosen Option : 4

QI 17 fgmwaR, 1931 P HRCT FITEAH TEATT H TG et 12
Ans X 1. 3R R

X 2. v g

/X 3.th. dew

W 4 & 8 AT

Question ID : 98958014176
Status : Answered
Chosen Option : 4

Q10 it 3t w1 SiE aTer & 1 FATAH ¥2
Ans X 1 ggmEa

75 2. pATSET &

W s

75 4. ToAcher T
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Question ID : 98958014185
Status : Not Answered

Chosen Option : --

QN fradwad asradi v ARl # Rua @
Ans o 1 s

75 2. IrEvTTae geRr

/X 3. 3eR ww

/X 4. wmmdvg

Question ID : 98958014183
Status : Answered

Chosen Option : 1

Q12 Y AFHITRT $ ATCTA A 3@ S aTelt FRBIHT, St A 309 i g e T@am
(ATSHITATETHY) & AT I FI=ATeT FgT AT |

Ans x 1. fre @A
W 2. 5= faem
75 3. Fcew e
75 4. Shara e

Question ID : 98958014180
Status : Answered

Chosen Option : 2

Q13 darg rsraer A TG R e
Ans X 1 Eore we

W 2 TR T

/X 3. e e

X 4. - Re-wie

Question ID : 98958014188
Status : Answered

Chosen Option : 2

Q14§ 1919 T, T Form 3 Rraw A T & AT TEATT e Feoll 373 Rp T A
Rya@?

Ans JLWW
X 2. afFwn
75 3. fER
75 4. 3cR ey

Question ID : 98958014174
Status : Not Answered

Chosen Option : --

Q15 7met, 2019 # RFY TR 1 TgrolT eHITeT Forgerer foram ara am?
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/5 2. Ethology
J 3. Herpetology

X 4. Mammology

Ans X 1. st T, &Y. TET

X 2. 5eq v, T A3

/< 3. ca v & fHd

o 4 SfEcw R g

Question ID : 98958014190
Status : Answered
Chosen Option : 4

Q.16 is the branch of zoology concerned with the study of amphibians.
Ans x 1. Morphology

Question ID : 98958014181
Status : Answered
Chosen Option : 3

Ans

QA7 243 30 3rd«, 2019 FekeT gesR & ___ A Famam I/

W 1. g wfeRaT weaE
75 2. e 31 weaTg
7< 3. T wffavor FeaE
/X 4. farg wea gearw

Question ID : 98958014196
Status : Answered
Chosen Option : 1

Ans

Q18 rafafad # & fra &t &) o 3R MR ) g arer Aed & 9 F 1 AT |

F R ey
X 2. 3FEe et
/X 3. olrefeh-ol 3T
f 4 e et

Question ID : 98958014184
Status : Answered
Chosen Option : 4

Ans

Lo
25 1. st Hid
X 2. @t
7< 3. e Tt A
YRR

Q19 z1t 2019 #F st & Ay (NITI) 3T & weew P W TS FY HIG (THHT) FT HEqET

Question ID : 98958014197
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Status : Not Answered
Chosen Option : --

Q20 frg Tea & FuehT RIeasRt oty A 3 e o e, Falle, siioret AR FEafar # wafifa
FIA G AT T THaAT?

Ans X1.TIG|’F2HH
/< 2. 3ccREs
X 3.
of 4. afFes darar

Question ID : 98958014175
Status : Not Answered
Chosen Option : --

Q21 77, 2019  efter ot A arafer 3 Torw se T SRV JrTEeET Fowr (M) F P F wo A
oy forgerer o aram am?

Ans X 1. forRg qae ufer
75 2. TR e sarE
o 3. 3 o e
75 4. T e

Question ID : 98958014191
Status : Answered
Chosen Option : 3

Q22 ger o e, Ser@s # Tl it RS frhe T3 & 3 7% & T s
&-20 T TR F ITATAS F AT 319 g@ &-20 Fexarererer 7 sfogr wm

Ans X»].a.ﬁq_—gﬁm

W 2. sefereare
7< 3. ufrearar
75 4.9Rd
Question ID : 98958014195
Status : Answered
Chosen Option : 2
Q.23 is a scientific discipline concerned with the study of plant pollen, spores, and

certain microscopic planktonic organisms, in both, living and fossil form.

Ans X 1. Dendrology
x 2. Ethnobotany

( 3. Palynology

x 4. Paleobotany

Question ID : 98958014182
Status : Answered
Chosen Option : 4

Q24 7met 2019 &, R F & A HTANFHT AFTT F9 HFFaTSN TAWE # I ToreT Ta S|
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Arafaia # & sia-a1 R o 9w Rearadi §?
Ans 1. FY HRIS
X 2. gife g o
W 3. e
75 4. @ orferar e

Question ID : 98958014194
Status : Answered
Chosen Option : 3

Q25  Ryaaverer waer ¥ v 93T TCH HTHEOT TS ¥
Ans x 1. eI T

o 2. dgeia

75 3. TRy

75 4. Beaet

Question ID : 98958014186
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1 210,000 # TfY T 14% o I Hr T & 22 ot F T s e A, Sl S At
T F AT BIGT 87 @ 1 F fowean)

Ans X 1. 34,394
X 2. 74,259
'3 34,296
X 4 34,439

Question ID : 98958013230
Status : Not Answered
Chosen Option : --

Q.2 =z Tt &1 atEa 46 &1 SR = Hwwnat # s 43 o few o gt v osttee 494
¥ =t ik o8 TEmw 7 & g ® wAw 4 3 6 sy #1 5 & aikk 7 & gt o sitee G
&2

Ans X 1.435
X2 445
V'3 43
X4 44

Question ID : 98958013226
Status : Answered
Chosen Option : 2

Q3 A B & a7 g F I8 : 9 ¥ 9 A F A, Tg T 19 21 F AW C, BHF3 AW
T g1 C F FaAe Ay (Fu A7) Feaer 82
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Ars of 1. 51

X 2 48
X 3. 49

X4 52

Question ID : 98958013229
Status : Answered
Chosen Option : 1

U g x+y=12 3k oy=27x>y & & F-y3) FATL:
Ans X 1.720

<2710

<3 724

v 4 702

Question ID : 98958013235
Status : Answered
Chosen Option : 4

Q.5 AABCEﬁH;GIT'i'Gcm,7cmﬁScm%lmﬁmﬂmﬁﬁm(bisedor)mmﬁ
g1 &1 & T A o #3ar 71 ok w & T@w e 17

Ans 21

Xr? cm
Xz.? cm
] 56

X3 = cm

j4.£ cm

Question ID : 98958013241
Status : Not Answered
Chosen Option : --

Q6 Ifr xz4 y2422 =133 xy+vz+zx=114 ¥ 3wz =216 & ar x*+ y*+2® FAF L

Ans X' 1. 999

< 2948

V31009

< 4942

Question ID : 98958013237
Status : Answered
Chosen Option : 2

Q.7

fr . IR . 3,0°< 6 < 90°% ¥ cotf + cosec§ F AT g

cot? B8—caos? @

Ans
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. V3
KL
V'3 V33
~ a4 33

4

Question ID : 98958013242
Status : Answered
Chosen Option : 3

A8 R 2x2+924+6x—2xy+9=0 & ar 43—y + x2y?) T AR

Ans (1_ 0

X2 -3
X3 -9
x4 9

Question ID : 98958013236
Status : Not Answered
Chosen Option : --

Q9 APQGR ¥ ¥ t% 3@ R feud & Bw=w % O ¥1 SR 379 ¥ Beg R W o0¢ W &1 7% GR,
£ ORS = & sTER 9t # aear &, ar £ RPQ &t AT fhaer 87

Ans  of 1 4Ee
X 2 80°
X 3 40°
X 4. 30°

Question ID : 98958013239
Status : Not Answered
Chosen Option : --

Q.10 Ina circle with centre O, ACBO is a parallelogram where C is a point on the minor arc AB. What is the measure of
£ AOB?

Ans (1_ 120°
&< 2. 100°
X 3. 150°
< 41100

Question ID : 98958013238
Status : Answered
Chosen Option : 1

Q.11 (§+56Fr5)$ri+ (E+Exia:r§)aa‘r(ix3+§$fz)$f?-rm3‘-

3 2 3 15 4 2 5
Ans x1_u
40
2. —
J 9
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a4

25
18

125

Question ID : 98958013225
Status : Not Answered
Chosen Option : --

Q.12 ofy v 9-3F &7 TEAT 3241152, 88 ¥ FHeew &, o, » % ~UATH T A F T (@x — y) H
A

Ans o1 1
X220
X311
X4 31

Question ID : 98958013224
Status : Answered
Chosen Option : 3

Q13 e & RfeeT vor & TR F soET B (F=E #) g2 T

ag | 2012 2013 2014 2015 2016
R
A E] 58 60 & 55
B 40 54 36 61 67
c 46 50 63 i 77
) E) 35 [ a5 a3
E a7 43 53 48 52

afy 759 D H F & 3e9ea F FADS HFE F (Fead ) TE-IE @ TEGS AT 7w § 7 2013
H FRT F e F R I FeTwE (FaT) FFAT FOT R

ans o 1 B0°
<2 77°
< 3. 84°
X 4. 75°

Question ID : 98958013246

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q14 zr wemt A i B ¥ & &1 g 800 km ¥I TF WOTE X, A RuA ¥ T Y F § R B
A Fr AR 40 km/h B AT T T § AT ZET T Y, B RAS W oA qF FET § AR

A TIF H AT 60 km/h FT T F T g1 A wEE A T ¥ fae g
TF G F IR FE?

Ans X 1. 380 km
X 2300 km
X 3. 360 km
v 4 320 km

Question ID : 98958013232
Status : Answered
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l Chosen Option : 4
Q15 37fy ¥ 7624 F & TEGU TR 3HA TH IEG B 14% gl ov d=r I gud awg A 14%
& oMt W A=l I S awget & Rew How wAw g, O 3R aee gt # FR R W) §
Ans  of 1. 87.36
< 2. 8968
< 3 89.64
< 4 88.84
Question ID : 98958013228
Status : Not Answered
Chosen Option : --
Q16 aifeer & Rfees T & SR F 3c9ET F (IRt H) gt =
ad [ 2012 2013 2014 2015 2016
T
A 54 58 60 63 55
B 40 54 56 61 67
[ 46 30 63 73 77
D 33 35 48 45 49
E 47 43 53 48 52
2012 #, THT B A PRI F DIEH, Tl THER F FW F F seee, 2016 F Tl g Fr FR
3 F T FeTE B el Fieere o 87
Ans  of 1. 40
<2 258
<3 26.7
X4 42
Question ID : 98958013248
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q17 ey & e 9 & FRT & souea & (g &) gaiar v
ot | 2012 2013 2014 2015 2016
X
A 54 58 [ 63 35
B 40 54 56 61 67
c 3 E] 3] 2] 77
D EE) 35 a8 a5 9
E 47 43 53 48 52
2014 & 139 E & 3T 2016 # @37 C H FR F F e F, 2014 FH =T B & F11 3k
2013 # 2139 D & FI & Fo 3eTEA T IO §?
Ans X'1.9:8
<211:8
<311:5
vi10:7
Question ID : 98958013245
Status : Not Answered
Chosen Option : --
Q.18
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ABDC & WAWIY Tges ¢ fomA @0l AD 3t BC ¥R O W #FRd &l

Ans

Ans X A AOE = ADOQF & F W viwaa §1 aafaf@a & e wd 78 ¥2

/< 2. AAEB = ADFC

<3 AABC = ADCB

v 4 AADC = AABD

Question ID : 98958013240
Status : Answered
Chosen Option : 4
Q19 Fiferer & A vovw & FF & 3o9eT F (F=RT H) FofEr mw ¥
% | 2012 2013 2014 015 2016

2012 3 2013 # TT E T FA FT Fof 3c9e, 2012 F 2016 & g T5T A H FR F 3w
3eae § olTeTer fohae wfanE e &2

v 1552
X2522
< 3 56.4
X< 4 538

Question ID : 98958013247

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.20

Ans

TH WO IO AT A AR Aed W 40% FR ARRT aXar §1 9 AR #eF W 70% W d=er §
SR A9 A AT AFT W 40% TT G AT & §| IO o Shoerd e 87

v 232
X2 244
X3 234
X4.242

Question ID : 98958013227
Status : Not Answered
Chosen Option : --

Q.21

Ans

IfE sinf =4cosf ¥, 9T sinfcosf o AT g 22
Ko

N
B e 01N

S *
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r

Question ID : 98958013243
Status : Not Answered
Chosen Option : --

Q.22 sin x c
AT o= o S — dfa=>h¢ afrc = 7

1+sinx+cosx 1+sin x
Ans  of 1.1+ sinx —cosx
/<2 1—sinxcosx
/3 1+ sinxcosx

X 4 1+ cosx— sinx

Question ID : 98958013244
Status : Not Answered
Chosen Option : --

Q23 ug & v TET #H FEE 7.56 m ¥l FES AL AN AR AT w25 cm HT 1.5 om F
T AT F 1 m® T AT 759 AT AT (1= )

Ans o 1. 71.28 kg
< 2 72.82 kg
< 3. 69.68 kg
< 4.70.14 kg

Question ID : 98958013233
Status : Not Answered
Chosen Option : --

Q24 A B 3T C #rzarer & HFIE 50 30 8§ T v A Ay fHee 30 A F g o wew €1 A
A B & e 20 T 7% Fa fran) o a9 F @ C e Brae et & qm wem?

Ans xm 30 ﬁ?{
v'2 40 &
X3 36 fa=T
X4 32 B

Question ID : 98958013231
Status : Not Answered
Chosen Option : --

Q25 == fmhr avg & 7T # 20% T @, @ TR B F % 7 I gw of o e F e0%
HFIR_FEL Fawa= &

ans 1,120

v 2100
<3 96
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X 4. 80

Question ID : 98958013234
Status : Answered
Chosen Option : 4

Section : English Comprehension

Q.1 Select the correct active form of the given sentence.

The wall of this park is being painted by children.
Ans ( 1. Children are painting the wall of this park.

x 2. Children have been painting the wall of this park.
x 3. The wall is painting children of this park.

x 4. Children painted the wall of this park.

Question ID : 98958012515
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

You won't tell the secret, won't you?
Ans x 1. No improvement

X 2. would you
J 3. will you
75 4.isntit

Question ID : 98958012516
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate meaning of the given idiom.

Couch potato

Ans ( 1. a person who watches too much television
x 2. a person who remains relaxed and calm
x 3. a person who is simple in nature

x 4. a person who sleeps all day

Question ID : 98958012530
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate meaning of the given idiom.

Lead someone by the nose

Ans x 1. to quarrel with someone
x 2. to force someone to take the blame
x 3. to do the right thing

J 4.to dominate someone
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Question ID : 98958012531
Status : Answered

Chosen Option : 4

Q.5 Inthe sentence identify the segment which contains the grammatical error.

| know the cobbler which mends the shoes outside the gate of our colony.

Ans X 1. outside the gate
x 2.the shoes
X 3. I know the cobbler

o 4. which mends

Question ID : 98958012512
Status : Answered

Chosen Option : 4

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select No improvement.

The Head has been so busy to go through these files and resolve the matter.

Ans x 1. 100 so busy to go through

x 2. such busy to go through
x 3. No improvement

“ 4.too busy to go through

Question ID : 98958012517
Status : Answered

Chosen Option : 4

Q.7 Select the synonym of the given word.

ENTICE
Ans X 1.ensue

J 2. entrap
X 3. enrage
x 4. entail

Question ID : 98958012527
Status : Answered

Chosen Option : 3

Q.8 Given below are four jumbled sentences. Select the option that gives their correct
order.

A.In China, thousands of people celebrated it.

B. The Lunar New Year of the Pig began on 5th February.

C. Others burned the first joss sticks of the year to bring them good fortune.
D. Some performers re-enacted historical ceremonies.

Ans  of 1 BADC

/5 2.ABCD
#< 3.DABC

/X 4.BDCA
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Question ID : 98958012524
Status : Answered
Chosen Option : 1

Q.9 Select the antonym of the given word.

FINITE
Ans " 1 finished

( 2.endless
x 3. bound
75 4. limited

Question ID : 98958012528
Status : Answered
Chosen Option : 2

Q.10 Select the wrongly spelt word.
Ans J 1. renassaince

x 2. remuneration
X 3. remonstrate

x 4.rendezvous

Question ID : 98958012535
Status : Answered
Chosen Option : 1

Q.11 Select the synonym of the given word.

DUBIOUS
Ans J 1. fishy

75 2.loyal
x 3. steady
x 4. certain

Question ID : 98958012526
Status : Answered
Chosen Option : 1

Q.12 Select the most appropriate option to fill in the blank.

In many countries the in pay for men and women is quite common, for example,
in Germany women are paid 21 per cent less as compared to men.

Ans x 1. equivalence

x 2. unlikeliness

J 3. disparity

x 4. disagreement

Question ID : 98958012537
Status : Answered
Chosen Option : 3

Q.13 Given below are four jumbled sentences. Select the option that gives their correct
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order.

A. Canada accounts for nearly one-third of the world's production of news print.

B. Forest products, therefore, have been important export items of Canada for more
than a century.

C. A large part of Canada is covered with coniferous trees.

D. Pulp and paper are the two most important forest products.

Ans X" 1 BACD

/5 2.ABCD
75 3.DCAB
o 4.CcBDA

Question ID : 98958012525
Status : Answered
Chosen Option : 4

Q.14 Select the antonym of the given word.

REPRIMAND
Ans J 1. compliment

x 2. reproach
X 3. apprehend

x 4. blame

Question ID : 98958012529
Status : Answered
Chosen Option : 1

Q.15 Select the word which means the same as the group of words given.

Someone who believes that people cannot change the way events will happen
Ans x 1. seer

X 2. prophet
/X 3. fanatic
o 4 fatalist

Question ID : 98958012532
Status : Answered
Chosen Option : 4

Q.16 In the sentence identify the segment which contains the grammatical error.

The street artist Satish Munjal has been painting this wall since the past one week.
Ans X" 1. this wall

“ 2.since the past one week
x 3. has been painting

x 4. The street artist

Question ID : 98958012513
Status : Answered
Chosen Option : 2

Q.17 Select the correct passive form of the given sentence.
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Take this suitcase upstairs.

Ans x 1. You must be taking this suitcase upstairs.
« 2. This suitcase should be taken upstairs.
x 3. Letthis suitcase been taken upstairs.

X 4. You are requested to take this suitcase upstairs.

Question ID : 98958012514
Status : Answered
Chosen Option : 4

Q.18 Select the word which means the same as the group of words given.

Persons living at the same time
Ans « 1. contemporaries

x 2. cosmopolitans
x 3. compatriots

x 4. colleagues

Question ID : 98958012533
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedentin history. (2) the earlier wars, the civilian populations
were (3) notinvolved and the casualties were mostly (4) to the warring
armies. The war (5) began in 1914 was a total war in which all the resources of the
warring states were mobilized.

SubQuestion No: 19
Q.19 Select the most appropriate option for blank No. 1.

Ans X' 1 generated
75 2.began
/X 3.made
o 4. caused

Question ID : 98958012519
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedent in history. (2) the earlier wars, the civilian populations
were (3) notinvolved and the casualties were mostly (4) to the warring
armies. The war (5) began in 1914 was a total war in which all the resources of the
warring states were mobilized.

SubQuestion No : 20
Q.20 Select the most appropriate option for blank No. 2.

Ans X 1 At
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/X 2.0n

of 3. In
x 4. Into

Question ID : 98958012520
Status : Answered
Chosen Option : 3

Q.21
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedentin history. (2) the earlier wars, the civilian populations
were (3) notinvolved and the casualties were mostly (4) to the warring
armies. The war (5) began in 1914 was a total war in which all the resources of the
warring states were mobilized.

SubQuestion No : 21
Select the most appropriate option for blank No. 3.

25 1.finally
x 2. broadly
75 3. chiefly

« 4. generally

Question ID : 98958012521
Status : Answered
Chosen Option : 4

Q.22
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedentin history. (2) the earlier wars, the civilian populations
were (3) notinvolved and the casualties were mostly (4) to the warring
armies. The war (5) began in 1914 was a total war in which all the resources of the
warring states were mobilized.

SubQuestion No : 22
Select the most appropriate option for blank No. 4.

x 1. belonged

x 2. bound

x 3. reatrained
« 4. confined

Question ID : 98958012522
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

In 1914 a war began in Europe which engulfed the entire world. The damage (1) by
this war has no precedentin history. (2) the earlier wars, the civilian populations
were (3) notinvolved and the casualties were mostly (4) to the warring
armies. The war (5) began in 1914 was a total war in which all the resources of the
warring states were mobilized.
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SubQuestion No : 23
Q.23 Select the most appropriate option for blank No. 5.

Ans X" 1. whom
75 2.what
o 3. which
X 4.who

Question ID : 98958012523
Status : Answered
Chosen Option : 3

Q.24 Select the most appropriate option to fill in the blank.

Catholics and Protestants have a long history of in Northern Ireland but
volunteers from both communities came together to build the monument of Peace.

Ans X" 1 truce

x 2. agreement
JS.conﬂict
x 4. contest

Question ID : 98958012536
Status : Answered
Chosen Option : 3

Q.25 Select the wrongly spelt word.
Ans X" 1. matter

X 2. meadow
J 3. megre
X 4. measure

Question ID : 98958012534
Status : Answered
Chosen Option : 3




